	Material List		
Item	Quantity	Unit Cost	Total
2" X 10" X 8' Pressure Treated Lumber	2	\$7.97	\$15.94
2" X 4" X 8' Pressure Treated Lumber	13	\$3.97	\$51.61
4" x 4" x 12' Pressure Treated Lumber	1	\$20.00	\$20.00
60 lb. Bag Concrete	3	\$2.97	\$8.91
5 Gallon Bucket	2	\$4.98	\$9.96
#5 Deck Screw (One Box)	1	\$25.97	\$25.97
1" X 6" X 12' Deck Board	6	\$21.97	\$131.82
Cubic Yard Masonry/Lawn Sand	2	\$32.00	\$64.00
1/2" Rebar 4' length	4	\$3.00	\$12.00
Cold Rolled Steel 1" X 36"	2	\$15.00	\$30.00
Lag Bolts 3/8 x 4"	10	\$0.30	\$3.00
Washers for 3/8 Bolts	10	\$0.10	\$1.00
	_		\$374.21
	All Materials were purchased at my local Home Depot, except for Steel Pins. You can find cold rolled steel at your local steel yard.		